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LEE| LKA |(BEALGE| BEALE AKX #E
0 |BEE ¥ 60,000 |sms o)
1 | K ¥ 21,000 |s3xw# XO
2 Jug ¥ 7,700 [<ozsk XO
3 |ARH ¥ 2400 |[z/x57# XO
4 |Th ¥ 17,700 [#s # @)
5 |mE ¥ 42,000 [Hakus o)
6 | ¥ 50,100 | b XO
7 |KE ¥ 7,700 [¢oubi > N2
9 |EE ¥ 20,000 |vosHus o)
9 |EE(B) |¥ 3,800 # = L
13 |FAHE ¥ 30,000 [tm—#= XO
14 | B55k ¥ 6,500 |=# # XO
15 |+ ¥ 27500 [z-¢ # o)
16 (B3} ¥ 34400 [p2En # 2X0
17 |Hik ¥ 26,800 |wobui7s XO
18 |/DI] ¥ 7,800 |roizemm L
18 [/DMIB) | ¥ 4800 |[zvsrs O
19 |HE ¥ 20,300 |aes o)
20 |EH ¥ 8,000 [turH XO
21 |F=E ¥ 5000 [caTom XO
23 |HiR ¥ 6,500 (o XO
24 |55H ¥ 7500 [t# B
29 |[J3EY | ¥ 8,200 |[vu=T L
30 |k ¥ 15,000 |zorat 2X0
31 |dhid ¥ 10,500 |[L~ra XO
33 |[F4F ¥ 35000 |um # O
41 (0O ¥ 4100 [7o*+# XO
48 |JY7—/) | ¥ 6,600 |aes 2X0
51 |9 ¥ 15500 [Lvrrsnas 4B
55 |3¥H ¥ 6,400 [p>—+# 2X0
55 |#tH ¥ 13,100 |/seas 7B
66 |[LATRX |¥ 10,200 |aes 2X0
72 |FH ¥ 5,600 |sr¥# (@)
74 B5 ¥ 8,200 [+vs5h 2X0
76 |#3FH ¥ 21,300 |vous L
77 |ABRYSR | ¥ 5000 [e—ro# 2X0
80 |[UF ¥ 10,200 |[ntim 7B
88 |Hp ¥ 21,000 |rns# 2X0
89 |[F—UY | ¥ 5500 |7 XO
99 (A4 JL | ¥ 10,800 |nidet 2X0




